Hugenq,’\}‘xz M&{%a( 2

Police Acadery.
Do (INSACOG) 2.omd 1. ‘INSACOG?’ is a ‘SARS-CoV-2 Genomics
AT ST AT =R 2u-2 S TEIAVL Consortium’ of which country ?
Gai@qewro:bw, o= dcéc&:ﬁ? l (@) China
(a) ?'3:,@ (b) India
(b) oo | (c) USA
() O0ITD ! (d) Israel
(d) @aReef

230U AFIB o, ﬁ‘i 263 300D SR, 2. Dr.( Chennaveera Kanavi, who passed

. away recently, was associated with which
O35 3,31t FOLOHRTIT ? 4 . l

profession ?
(a) =one3med

(a) Music
(b) woEmd 4 (b) Writing
(€) & ewmomin (c) Sports
(d) oDowTT

(d) Politics

Wezor' Wernor wdods — 2022 I9, | 3.  Who is the only contestant from India, in

PoU3T mfp’ ROF o3 ? the Beijing Winter Olympics 2022 ?
(a) ©0xf a5° (@) ArnfKhan
(b) QevRst ¥R, (b) Neeraj Chopra

(c) &R Fe3=* (©)
(d) =ndes® aon®

Shiva Keshavan

(d) Jagdish Singh

POOSE  PYoBY, R0eFod0, oI | 4, The Archaeological Survey of India

!

|
Rueo0odn fﬁ@@dQ, Lplevela % (ASI) is an agency functioning under the
VT &HROSTOI 'h‘ox;oﬁand 9 ! aegis of which Ministry ?
(@ =W B IS @wmony 3 (a) Ministry of Housing and Urban

=o3=300D ‘ ! Affairs
(b) Roxyd 23530003 % (b) Ministry of Culture
© TToRRSE RIOoDd | () Ministry of Tourism
(@) worts 5 SEeond Rumech % (d) Ministry of Tribal Affairs
—3= C
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8.

o’ (USD) 10 2290305* (B38eee) Nod

SR SP0,T 59,7008 R0 BB 9

(a) CVERF
(b) DTS
(€) By
(d) dwnes

39, WO, aoacgaﬂ@ mmmo%
T inJevernia Slelovels) DReART Ao

o3nexsSods DIV ?

(a) GZPUFC {oOS FI x;eab‘
()
(c) o=’ Beor* 33 nes*

(d)

SEvkoy fAplex k:,eéa‘ .!%em‘

eas3ef 363 AL
e [-]

RO ODOT, sorarstiao’3 (Rhil3), o30S
. g3god T8, e (£9353088 D) ?

(@) &3

(b) TRH .
© =%

(d) R

srooge (FIFA)
oIns Bod) SRCSE TESL noasd ?

(©) 8rodencdn
@

l
!
|
!
|
5
|
o8, 8 2022 ge,, E
'l
l
!
|
|
\
-4

8

What is the name giventoa business with
a value more than USD 10 billion ?

(a) Unicorn
(b) Decacomn
(c) Decathlon
(d) Decagon

What is the name of new scheme

announced under station redevelopment

drive of Ministry of Railways ? '
(a) Atmanirbhar Bharat Station Scheme
(b) Amrit Bharat Station Scheme

(c) Bharat Rail Station Scheme

(d) Atal Station Scheme

Rhtl3, which was see€n in the news, is a

semi-dwarf gene of which crop ?

(a) Rice
(b) Wheat
(c) - Cotton
(d) Jute

Which team clinched the third place in the
FIFA World Cup 20227

(a) England
(b) Morocco
() Croatia

(d) France
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10.

1.

(N
)
(&)
Q)

o
oI Weed

ool

S

2ruths Rede3necs J0C30IT SO

(a)
®
()

Y

(1), (2), DD (3) I3,
(1), (3), R (4) =%,

(2), (3) 323 (4) =8,

@ (1),(2),G)=R(4)

coodan  (UIDAI), odnad g’
RUTOOT VRODY, AR ToRTWG

>

T, QTN ?

(@)

(b)
(c)
(d)

QURIT DB Tobed 303,253
P anlJleve)

ri,as asdﬁmdﬂv R¥oood
LAOL OO PAL A Slevel

QS TR F0, 2593 FeITooD

Con' T A §, SRS BeBT IR
T8 [ To03 9

(a)
(b)
(c)
(d)

r%m‘oca‘
3R, iRt

mcm;_pm’

| 9.

10.

11.

|
I
|
!
I
|
I
I
!
!
|
I
!
!
!
!
|
!
|
|
|
l
|
|
|
|
|
|
I
|
|
|
|
l
|
|
|

|
8

Which of the following crops are millet ?

(1) Jowar
(2) Maize
(3) Ragi

(4) Bajra

Select the correct answer using the code

given below :

(@ (1),(2), and (3) only
®) (1), (3), and (4) only
© (2).(3)and (4) only
(d) (1),(2),(3)and (4)

UIDALI is a statutory authority established
under which Union Ministry ?

(@) Ministry of Electronics &
Information Technology

(b) Ministry of Home Affairs
(¢) Ministry of Finance

(d) Ministry of  Science and
Technology

Aung San Suu Kyi is the former leader of
which country ?

(a) Thailand
(b) Myanmar
(c) Bangladesh
(d) Nepal
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2. QORI G2 TROPMOI adni | 12. The G2 grouping in news is betwee,

13.

14.

gesrie SAE A8 ?
(a) WPUE-HT
(b) YT - CVIT*
(c) O -¥do
(d) T, — 0R0Qx*

adeudnt #ooaojae?% WD (BIND) I
odeexs,  RZowodad.
(a) =0 RPOPLDF
(b) O RS

©) wE,mI DA |
d) 3-2ax0gm

P08 - YT ne ens wif, NS

BeoBrivay MO :
@A) ovan (LAC)CHOR e Sesdodds)
RFBOREY, DB ead

0T FECDONIZT.

(2) Sorrsdness Sealody 1914 09, |
AR, odaia R0,
fptidoplever o)

(3) 1962 0 Adn - QORI omq;cs'
AoHBY, ot wemd |

Re303, 08 LUK, 650 FRdY |
omE REPUDIE eEs W09 !
Sdow®. -
883003 Roge3nvon ,"obcrbagd ClobK
(@ (1)=»3
) (1) =RE2) =R
© (2 RE) =S
@ ), Q=R

|
|
|
|
|
|
|
)

13.

14.

which countries ?
India-China
China-US

Russia-China

(a)
(b)
(©)

(d) Russia-US

BIND scheme, recently seen in the news,

is related to :
(a)
(b)
(0
(d)

Broadcasting Infrastructure
Defence Manufacturing
Space Exploration

3-D printing

Consider the following statements
regarding the India-China border dispute :

(1) The boundary line at the LAC is

called the McMahon Line in the
eastern sector.

The McMahon Line was proposed
under the Simla Accord in 1914.

2

During the Sino-Indian war of
1962, Tawang fell under Chinese
control but India gained it back
with the help of Russia.

3)

Choose the correct answer using the
codes given below :

(a)
(®)
(c)
(d)

(1) only

(1) and (2) only

(2) and (3) only

(1), (2) and (3) only
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@ 3038 FOLORRTOF B BUNS Beosrivy
ORI :

(1) BT FRAFS To,48 LI,
2
(3) BT DF-VR Feom,BYS T, TSNS,
BRLITOT RoFeINPon JDCIVIT O :

(a)
(®)
(©)
d (1), 2)=R0)

SOOCIRYo 80T 3 R,

(1) =33 (2) =93,
(2) =3 (3) =%3,

(1) 333 (3) =93,

S0TF, MTO0R Tody €03 112,e0€69 e, en
5230 5003 (MGNREGA) Wi} B 89N
5%'55%_ NV :

(1) MGNREGA TORLF ci‘ﬁa
TOBReIIoD BER03 RUOGERY
TRODT.

(2) B Sweode  womd PORTR,

Poaoygnisd DoPeINTLIeBd

wod  MGNREGA
R,

B0~
Q

BT odedrivcs ROO3IT O :
(a)
(b)
(c)
(d)

(1) %o
(2) %o
(1) 3 (2) 20@R XO

(1) R33 (2) cIneIRR RO 88

I
!
|
I
|
!

g
|
g!
i
l
I
|
!
|
l
!
|
!
|
|
|
!

I
I
l
|

|
l
7_

15.

16.

()

Consider the following

regarding Lakshadweep :
(1)

statements

It comes' under the jurisdiction of
Kerala High Court.

(2)
(3)

Select the correct answer using the code
given below :

(@) (1) and (2) only
(®) (2)and (3) only
(¢) (1)and (3) only
(d (1), (2)and (3)

- Malayalam is the official language.

It is a uni-district Union Territory.

Consider the following statements

regarding Mahatma Gandhi National

Rural Employment Guarantee Act
(MGNREGA) :
(1) MGNREGA has mandatory

provision of Social Audit.

MGNREGA makes it compulsory

that at least one-third. of

beneficiaries should be women.

Select the correct answer using the code
given below :

(a)
(b)
(c)
(d)

(1) is correct
(2) 1s correct
Both (1) and (2) are correct

Neither (1) nor (2) is correct
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17. Jodeomw
ORF Wi, SUNS TeoInvR)

18.

. g TowFd* (Jed QOTPV)

SO

(1)  o03e0d RoDEOIT 137 Se DRI,
PRUIT  WJpery, mﬁodnvoi)dd‘),,
SOZodeOTO ©IFOTY QR

TR SO, LENRIT.

@) oPr Jgwemes 30 OINIL,
Prelevniel. NSADIE 23703
FOZrIeBd.

(3) 0T JsTT &}‘padda [N, VBT

 BoedR SeaFs SoTTOBOBODI
BReTORIRO FECRTONS.

e ot Bewd/risb IO ©Q?

@ ()=

) (1) @R (2) =3

€ @)=2%

@ 1,2 X (3)
wrj\ g3 FINS

FBeogrivs) MR :
(1) Ded QoMU g0y B ISV,

Hodd [JINWY, RonTNDI
@ [ag}

qom® 8T

(2) @omv IBTRABPTLO Qed BOMY
Depor 033N,

(3) 003 aagd Ded QOMOT WO
DeBaoNs.

LE ] g3 KoBedrioor FOodIT Lo !

(@) (1) =0H(2) IR,

(b) (2) 3 (3) BT,

© (1) (3) 303

@ (1), RA) .

| 17.

- — v — 5

18.

the following  statemens

regarding the RevieW Petition :

(1 Article 137 of Indian.COnstituﬁOn
provides the legal basis for filing 3
review petition in the Supreme
Court of India.

jew petition must be filed
s of pronouncement

Consider

A rev
within 30 day
of the judgement.

It is mandatory that only parties to

n seek a review of the
]

2

3)

a case ca

judgement on it.

Which of the statements given above

is/are NOT correct ?

(a) (1) only

(b) (1)and(2) only

(c) (3)only

@ (1), (2)and (3)

Consider the following statements

regarding blue carbon :

(1) Blue Carbon is the carbon stored in
coastal and marine ecosystems.

Blue Carbon is crucial for carbon

(2)
sequestration.

(3) India is a net Blue Carbon donor
country.

Select the correct answer using the code
given below :

(a) (1) and (2) only
(b) (2) and (3) only
(¢) (1)and (3)only
(d) (1),(2)and (3)
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19, TR ey DRTdoRy Jovoprsed, B | 19,

With reference to Commodity market
AT BefeR) MO exchange, consider the following :
( el ] * .
(1) Rov3q, 3o :{nd)dt{’ (1) In India, Commodity market

QTR RBI 0 Rexdes, 003 3.

Q) m“u‘ mmg@q, SR,TONED
WHS ITWWN s xmﬂm
ATV IRAZRWZ3.

3 ;ga‘:.iz."r TR TIFRFRDL 20D

exchange is regulated by the RBI.

(2) In the spot market, traders

exchange physical commodities for
immediate delivery.’

(3)  Futures and Forwards are two types

. ——
—————
——

of commodity derivatives that are
D3 T MUIFNONS. [CI, | used in derivatives markets in
WRIGY w3 nv mmﬁ%o:bq | India.

weRoRd. l
SRS el CIRJIO 30 9 ll (@ (1) and (2) only
@ (1) S=D(2) N, l (b)  (2) and (3) only
(b) (2) DD (3) Ing, | (© (3)only
© @)y {
|
|
|
l
l

Which of the options is correct ?

@) (1), (2) and (3)
@ @M, Q=x(03)

20. ROETEY NERoTR0E Sood

% | 20. Consider the

following  statements

ScwoPrges, BN as'e@iﬁv‘a'% RSO - regarding the Fisheries sector in India :

(1) oeomod o axodng,

(1)  Fishingis a Union subject but states
TS Dot risb 0T, DosRormodesd |

have responsibility for management

ABERoD mmugbm BRI, I of marine fisheries. |
2) PU3Y DT aoEe ©330% oess l (2) India is .the second largest fish
= e | producer in the world.
N 3) ¢ fisheries sector contributes
() 2ocomos o ) cezs u% I about 2.5 % to the country’s Gross
TPOTOR (RA)R RORRS 2.5% | Value Added (GVA).
geaon DRI, | Choose the correct answer using the
!!fa!{’d.}d XegeInees ﬁbmgd =16) ' |‘ codes given below :
@ (1) =3, | (@ (1)only
() (2) 3, | (b) (2)only
(©)  (2) 2 (3) 2ng, | (6) (2)and (3)only
@) (1), 2) =(3) g, ‘ @ (1), (2) and (3) only
-9
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21.

22.

23.

24.

WO Mo nv SRPOBER T, STIY
(LCM) 864 3 eniv TBI TR,
3R (HCF) 144, e53nivid) g.ocd Road, 0320

288 &g, SRR Ko 8.

(a) 577

(b) 444
() 432

(d) 148

‘A’ @HF) ‘B’ oD SodoRd, 3,zemN 2 3
eR03ns. 6 SHend [o3T, 80
N Jorel agood 8 : 11 erd3d. B o
k08 SRR ?

(a) 18 BRFAD

(b) 28 IHRFAD

(© 27 SRFNO

(d) 25 SIFAD

2,003 BORTIY TPEIF RV 6 YOOI
)

9 oINS 3ric8RoEs, 3 OINTY, ST,

YoOTT B FORTIY mmrm'?k‘wai?cb ?

(a) 2 RRD
(b) 12 QOoR®
© 9 DT

(@ 18R

2025 B0 BRFBNO
(a) 35
(®) 45
(c) 55
(d) 65

— ——————
— e s
—

. — v o . o T —

21.

23.

24,

=10 -

The LCM of two numbers is 864 and their
HCEF is 144. If one of the numbers is 288,

the other number is :
(@ 577
(b) 444
(c) 432
(d) 148

Ages of ‘A’ and ‘B’ are in the ratio of

273 respectively-
ratio of their ages will become 8 : 11
What is B’s present age ?

Six years hence the

respectively.
(a)
(b)
(©
(d)

18 years
28 y:cars
27 years
25 years

If 6 men take 9 days to complete a work,
how many men can complete the work in

3 days ?

(a 2men
(b) 12 men
(c) 9 men
(d) 18 men

Square root of 2025 is
(a) 35
(b) 45
(c) 55
(d) 65
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25.

26.

27.

) BTRREQN Fy§ Janowdrt 64 8.20e. | 25,

encQ 160 8.20¢. Todnedn, Jo3T T3
rotd 80 $.Q0¢. JenwQ 160 d.2oe.

Jotneihmd. oS3 Fesv 320 3.00e.
T, oxE Koo et O 7

(@) 35.55 &.a0¢/rotd
(b) 38 8.20¢/rcsd
(c) 71.11 $.20¢/ricd

(d) 75 8.20¢/rod

26 =3 91, 81 SOB Fone I | 26

RN, WSS (HCF) :

@ 15
® 13
© 19 |
@ 11

L) BN B odoloon [ dnowdrt3 s.ave. | 27

2 3.20¢. Vel Lo3ONTR. L Bren
W 5 riotd Sritecdd, s =S =B

T SRS 2037 g ~, d
(@) 8.5 3.0, i

SenoQ 33 Zodn Breertomos <od I, 3nosint {
|
|

|

|
(b) 5.5 8.20e. I
(c) 6 8.2 . |
(d) 9 8.0 l
-11-

A man on tour travels first 160 km at 64
km/hr and the next 160 km at 80 km/hr,
The average speed for the first 320 km of

the tour is :

(a) 35.55 km/hr
(b) 38 km/hr
(c) 71.11 kmv/hr

(d) 75 km/hr

HCF of 26 and 91 is :
(@ 15
(d) 13
() 19

d 11

A boy goes to his school from his house
at a speed of 3 km/hr and returns at a
speed of 2 km/hr. If he takes 5 hours in
going and coming, the distance between

his house and school is:
(a) 8.5km

(b) 5.5km

(c) 6km

(d) 9km
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28.

29.

30.

2,000 NARTTY, 5 notd 10 1INV
rotdo®d [OW, L) ATT S

SRDT BREIY) &SNS,

l
|
|
|
@ 60° i
®) 95° ;
(c) 120° ‘

|

l

(d) 90°

Lo T 3F WD Jend 5/7 oX,
Senod) 42 3.20¢. NESY 1 noed 40 QX
48 Roronvd) 80RIB. TOI IWTT

Senzm), 9omd LRAA0.
@@ 17 &.20¢/rot3
(b) 32 $.Q0¢/noed
(o) 31 3.20¢/riotd

) 35 8.20¢/riots

2002 8 =330 1 Se 2206500 0330:3 &0 ?

!

|

|

|

|

!

!

|

|

|

2001 © =330 1 Je 330020 BRETI0. |
l

I

(a) 3BI=T ;
(b) orivad I|
(¢) Rrezbevd |
l

I

(d) oo
-12-

29.

30.

In a clock, the angle between the houy

hand and minute hand at 5 h 10 mjp_;
(a) 60°

(b) 95°

(c) 120°

(d 90°

A car travelling with 5/7 of its actu

speed covers 42 km in 1 hr 40 min 48 sec.

Find the actual speed of the car.
(a) 17 km/hr
(b) 32 km/hr
(¢) 31 km/hr

(d) 35km/hr

January 1, 2001 was a Monday. What day

of the week lies on January 1,2002?
(a) Saturday
(b) Tuesday
(c) Monday

(d) Sunday
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31.

32.

33.

Lom) S108RYRy) 9 e oo, 12 doe. 31.

NEO8. B 4B PN 1 Qoe.
Q

HF) UG Pontd, 4 ave. YYNG.
QBT JORRED ad.

(a) 309 e

(b) 270 ¢

(c) 360 oo

(d) 607 &

PTG 300 om0 BT Todesn 20
2.20¢. @ Hoxeresy _ uhouleso.
(@) 125 3.o06
(®) 500 3008
(¢) 1000 .20
(d) 9000 3.20¢

LORD SOVT|ITE TIrioweod Neror

120 ¥mo Qoetiof DD 46 Qoewot
E:fOQOiﬁ% TROOT. BET Bederadd emc:‘fa@

____ uhg.

(@ 15 Qoewsor
(b) 19 Qoesior
(© 17 Qoesaoe
(d) 22 Qoesaot

BN ToBIAR 2,05 LG 12

. BB eng BroFs) 13 Qoe. ge3
Defaly it z)p‘mrwa% B0 &HAOND.

() 30 202 (83g QOLLIY)
(b) 45582
(©) 6002 o
d) 9032 v

w

32.

A swimming pool 9 m wide and 12 m long
is 1 m deep on the shallow side and 4 m
deep on the deeper side. Its volume is:

(@ 309m3
(b) 270m3
(c) 360m3
(d) 607 m3

The perimeter of one face of a cube is
20 cm. Its volume must be :

(@ 125cm3
®) 500 cm?
(©) 1000 cm?
(d) 9000 cm3

A rectangular carpet has an area of
120 sq. metres and a perimeter of 46
metres. The length of its diagonal is:

(@) 15m

(b) 19m
(¢ 17m
(d 22m

One side of a rectangular lawn is 12 m

and the diagonal is 13 m. Find the area of
the field.

(@) 30m?
(b) 45m?
(c) 60m?
(d) 90 m?
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35.

36.

37.

(@)

01310, BIoF 38T odnes o9 ?

~

() R0

b) TEPIIB

(©) 38R

(d) w0

857423 Ros8,c0QS vk todny $e3
ey AeD  wodnd  ReIn S

3, aasxdea{: ?

@ O
® 1
(© 2
d) BRIV, CIRFTe B,

205y deipert 5 Cmeoloodd 4 delee
By, 1ord> smert 6 TRTRONCD 8
ddpe  edodpodr QOB InRT. B
208,003 R0 Befeoedy 800 BRCD.

53,8 ﬁdrae.-

(b) 5.5, seine.

(©) T5.6638 80

]

(d) T63sne.

|
|
|
|
|
|
|
|
|
|
|

35.

36.

37.

-14-

Krauncha Giri is located in which disi
of Karnataka ?

(a) Chikballapur

(b)
(c)
(d)

Dakshina Kannada

Uttara Kannada

Bellary

What will be the difference between the
sum of the odd digits and the sum of the

even digits in the number 857423 ?

@ O
(B) 1
(c) 2

(d) None of these

4 kg of rice at T 5 kg is mixed with 8 kg
of rice at ¥ 6 per kg. Find the average

price of the mixture.

(@) ¥ 5perkg

(b) ¥5.55perkg

() ¥5.66 perkg
(d) T6perkg
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38,  LoT 3eSon ID2FITC JwoDL ¢
D q ooy &1 NS oI

39.

41.

o, 393 7

(a) dzeoy,
(b) sworued
(c) =z

@d) Seow

R RS ;T oot g,

SEeR0IT 2
(@) =g 3ok
(b) Uat'.znoa
() wam

@) ©og I3

TRILEE RS 2o Heot Lty

B S0 w3 9
(@)  ex3gezm

®) cinela

© =3

(d) ey

BTOFRBE ol BGodY Brectr LEEiad

[X]

B sodds WS 9
(a) evady

(b) =oxz

(©) wemor

d)  3mad

|
|
|
|
|
|
|
|
|
|
|
|
|
|
l
|
|
|
|
|
|
|
l
|
|
|
|
l
|
|
|
|
|
|
|
|
|
|
I
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38.

39.

40.

41.

In which of the following state, the
Sabarimala Sri Dham Shashtha temple
dedicated to Lord Ayyappa is located ?

(a) Maharashtra
(b) Kamataka
(c) Manipur

(d) Kerala

Nagaur fair is held in which state of India ?
(@) Madhya Pradesh

(b) Rajasthan

(¢) Odisha

(d) Andhra Pradesh

In which district of Karnataka Bhi] tribe
1s mostly found ?

(@) Uttara Kannada
(b) Dakshina Kannada
(c) Hassan

(d) Tumkur

Koya tribe is mostly found in which ofthe
following districts of Karnataka ?

(@)  Udupi
(b) Hassan
() Bidar
(d) Tumkur
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42. I w0n" o Lo0mg. Mein Kampf is authoredby

(a) SIpedoD* resmur (a) Napoleon Bonaparte

(b) Karl Marx

(b) mUF mu:r

(¢) ©mo Lyt (c) Adolf Hitler
N L
(d) wRuR Z0RROD (d) Benito Mussolini

43. QoFRIAT (ASEAN) J5o3 ggledodmy | 43- ASEAN is headquartered at
<% —_—
)
89 z:eodd. @ Male
(a) TS
(b) Kathmandu
(h) g |
Jakarta
() wEIF ©) ]
(d) PRV ' (d) Kuala Lumpur

44. Husir and Bihuna are dance forms of

44, TATT R VRTINS cms‘cs asds‘
which state ?

T, m0nwonss 7
@) w0 (a). Bihar
(b) &m0 (b) Assam

(c) R WOy (c) West Bengal

|
|
l
|
l
l
I
I
l
(d) wlm i %
I
|
l
I
l
I
|
|
|

(d) ‘- Odisha
45, malriiod Sdymdowd 043 Reb. 45. Harshcharita and Kadambari are th
worksof
@ o (a) Kalhan
(b) @ordd (b) Panini
(c) wor (c) Bana Bhatta
(d) TIoxd (d) Patanjali
C -16 -
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46, WA R & TIITRY IROVFRCT | 46.  The radiant energy reccived by the earth
oS Do B3oOR Q0D and its atmosphere from the sun is
sdaderninss. | called : ’

(a) SRS (WO Zo0) | (a) Insolation
(b) WP (IDZN) (b) Isotherm
() IR (F3LeII) () Insoenergy

(d) ugdn (I3FoToct) (d) Albedo
47. SRIVRT U5, FIDI
egodoan3d.

-»

|
|
! |
Q0T } 47. Atmospheric humidity is measured by
|

(8) o edoetdo’ (VB F X W WS (a) Psychrometer
- PIRFAOLITY)

(b) oRIeeet3of (SocwFer Srs)

(© et (doeamtne)

(b) Anemometer

(c) Lysimeter

) %d@ eQ0eLI0* (3 Fetncde) (d) Hydrometer
48. roridess dq_‘%w ‘!}'5”‘0 ___ 398 48. Singareni Coal-fields are located in :
(a) SDrFooessI (@) Narmada Valley
(b) ddmg‘ {0 (b) Kirishna Valley
(©) rMoemosd 8rsss (©) Godavari Valley
(d) =30 Beda3

(d) Kaveri Valley

9. atnzy NBINY 3ledood IBReEDd womd

49. Which planet is known as the sister of

Umrbgd ? earth ?

(@) ony (a) Mars
(13) % (b) Venus
(c) wogy (c) Mercury
(d 2 (d) Saturn

— —— ————————— ——— —— V— —— —— —— ————~ — ——— S—— ——

-l . C
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50.

51.

52.

53.

soneiriv QIR R B &9

TR T

g’ 00

(a)
(b)

(©)
(d) Bowson

bc!Ja-CJD

s B RoIR B0 SO,

(a) OB I,5e3

(b)
(©
(d)

vel00Y)e)

NDTWUDJOG‘

ee;_:)sacsopp ad%cboin =OTOID)
OB

(@) Jwo' S0

(b) BoorR I
(c) 0L TO

d) For=0

Q0T

Besonn  SeIBORR)
PoDIRIT.

(a)
k)
(¢) o Beer (Snad)
(d)

wRpeers ook (SRF)
OYor ek (Rn)

DEFG Feo* (nd)

— s —
— ——
-—— e

s ——

— v~ c—

——

A — v —— T v

50. Which of the following passes lies ip y
€

51.

52.

53.

-18 -

Sutlej Valley ?

(a) NathulLa

(b) Jelepla

(c) ShipkiLa

(d) Sharabathanga

The Khasi and Jaintia Hills are located in

Arunachal Pradesh

(a)
(b)
(c)
(d)

Meghalaya
Manipur
Nagaland

Victoria Falls in Africa are located on

(a) River Niger

(b)
(©)
(d)

River Congo
River Zambezi

River Nile

The intensity of earthquakes is measured
on
(a)
(b)
(c)
(d)

Beaufort scale
Richter scale
Secant scale

Mercalli scale
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s, oo, Jymnes Ty, Ve
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Ss.

57.

(a)
(®)
(€)
()

e oo 0839
2 3o
ey soes3e I

Soeynes, Pedy TR

:*‘N‘dﬂrad

B wiioden ¥ ey AN, w0

.
——

(a)
®)
©
(d)

Slale] umﬂﬂq}d

o :!cmczidai m&amvu&m
O Cdon :badg LL o3

ed '.gf,a;t;ram z;dez!dq‘ gomd
wcb_s‘d

cinss cmu‘d; ess‘os uucg:s B00HQ add 9

(a)
(b)
(c)
(d

VI Ferdody e <300 B9

oy, I,des
Dzoood

[*]
nosoost

gorus

Shiag

(@ cegu
b)  erzva
() rodhaeot
(d) ousdior

54,

SS.

56.

Mumbai receives more rainfall than Pune

because
(@)  Mumbaij s on the windward side,
(b)

(c)
(d)

Puneis at a greater elevation,

Mumbai is a coasta] city.,

Pune has greater vegetation than
Mumbai.

Black soils are ideal for cultivation of

cotton as

(@) their colour is black.

(®) they can retain moisture,
(c)

(d)

they are made of lava,

they are found on plateau regions.

Which State has the longest coastline ?

(a)
(b)
(©)
(d)

Andhra Pradesh
Maharashtra
Gujarat

Karnataka

The highest point in the Aravalli range is

()
(b)
()
(d)

Dodabetta
Anaimudi
Guru Shikhar

Panchmarhi
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58.

. 59,

60.

61.

oo, U, Benss, BESIBRY,

50D, QRnw  JOnS  oXnea sond

OTIIOMLL ?

(a)
(b)
(©)

¢

Zortat o3ONY 3 adzoRgdnodn

ZowoPNT. l

(@
(b)
(9]

(d)

waon‘mdab‘ FoOODJOID
s,

(a)
(b)
(©
(d)

B0, T LOTIY ReAro08 ST OTRS
398.

(@)
)
(©)
(d)

.01
Fo3ed

|

|

|

|

40, }
!

‘ |
RRemo=0 ;
|

I

WJooos*
LOTWOT*
B0DOTOR
DTOTOTR

30O OB BOF 8
geoy 3 Loy, BB
Bnosbmard 03 Feo

es053, T, 363 A LAV Y

30 I, 03e3
~otalaelsy
Eliakfals

wloo |
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58.

59.
ped 60.

|
|
|
|
|
|
]
|
|
wlﬂ.
|
|
|
|
|
|
|

Bhavani, Chinnar, Hemavati, Honnuhg),
K abini are tributaries of which among

following rivers ?

(a)
(b)
(©)
(d

Sangam Age is ass

Krishna
Kali
Kaveri

Godavari

ociated with the

history. of

(a)
(b)
(c)
(d)

Benaras
Allahabad
Tamil Nadu
Khajuraho

The Buckingham Canal runs through

(a)
(b)
(c)
(d)

Tamil Nadu and Karnataka
Kerala and Andhra Pradesh
Tamil Nadu and Kerala

Andhra Pradesh and Tamil Nadu

Singhbhum where copper ore is mined is

in

(a)
(b)
(c)
(d)

Uttar Pradesh
Jharkhand
Andhra Pradesh
Odisha

Scanned with CamScanner



62. a:f%:b mc@dgmwﬁ;d VITORTO0INT

63.

65.

oots08 ORI ?
(a) BRedDd

(b) ToBSe0HW
(c) YT

(d) O BRLTO

AOPR BN JonoEZod TS 63.

(Great Bath) __ 39 80m0 20023,
(a) oI

b)) InToremde

(c) dreJo

(&) wewonat

: 64.
TRV T, 2363 epldapislevspay

|

|

|

|

|

|

!
TROREOG, T @253 BRTeRd 2 |
@ o | |
() TYewerd ' ;
(c) drsrem i
d tSeandd :
|

|

|

!

|

l

|

|

|

BINS o3 TR z,aac;oﬁd oo
QOFed-11 1t Fowwod 9

(@) oy

(b) TORT

(¢) Te¥

(d) oasf |

-21-

65.

62. Which dynasty succeeded the Chalukya:

in the Western India ?

(a)
(b)
(©)
(d)

The

Cholas
Kakatiyas
Pallavas

Rashtrakutas

Great Bath of Indus Valle

Civilisation is found at

(a)
(b)
(c)
(d)

Harappa
Moﬁenjo-Daro
Ropar
Kalibangan

What is the present name of Dwar

Samudra, the ancient capital of th

Hoysalas ?

(@) Mathura
(b) Halebid
(¢) Raourkela
(d) Belur

Which one of the following Inscription:
are related to the Chalukya king
Pulakesin-II ?

()
(b)
(c)
(d)

Maski
Hathigumpha
Aihole

Nasik
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66.

67.

68.

69.

L ©

(©)

vora'3Y, Id8 Hewv ooRdodoends
Raevsc e33R 81 dINT oI 1, LI’
T, g 03, AT ?

(a) e of

@) oA,

(c) Yeowdrs

@ azed

Roos; 8% BFAG B8, TR T B,
BrorZes, SO PREANTF IR ?
Rreow 8, oedd

1o Romgc vt

R VBT epleve)

?.83. Svor'

(a)
®)

(d)

< dons i Hod0Q, cARD 3, O
S0 DETUTOT hm%oa‘d o8 HOTR
Fors B3 g & BReSE ReaTX ?

(a) OCoRWE

(b) ZosooLODF

rocb Jose

@ o5,

gobF WSS
mo&:doaoww,

(8) o ondos XY
(b) = DRemRon

(C) Uwaj wog ﬂcac

(@) 80 og, S woric

66.

67.

68.

which of the following British Py
Minister headed the First Round Ta::c
¢

Conference in London ?

(a) Churchill

(b) Ramsay McDonald

(©) Chamberlain

(d) Disraeli

Who declared «gwaraj is my birth right

and I shall have it” ?

(a) Gopal Krishna Gokhale

(d)
(©)
@

Bal Gangadhara Tilak

Lala Lajpat Rai
K.T. Telang
Who was among the following Bhakt

rientation of Hinduism

saints gave anewo
a or

through his doctrine of Advait

Monism ?

(a) Ramanuja |
(b) Sankaracharya
(¢) Guru Nanak
(d) Chaitanya

The “Arya Samaj” was founded by

Swami Dayananda Saraswati

(a
(b)
(c)
(d)

Swami Vivekananda
Keshav Chandra Sen
Ishwar Chandra Vidyasagar
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70.

71.

72.

73.

» Q'U' weoReod),, SUNS o 00
o3, SATEO ?
(a) WV L Gl
(b) ©OR BOTRRS’
) VAT WoT, T

(©
(d) o) nrder’ o},

woSse  sorpe AR cogs
ADoNTE), YUSE NSIFOT wITO*
3RO BNTTO ?

(a) oEF BO'TN

b) oowr By

(c) oou'r Ul

(d) oom'r SPow twusn

ATDIADRY WLBTEOI,
9, BORR DO,

(a)
(b) o 3 TOR

taloln]

——

Q8. od

(©) =TT oo
(@) QInewm

WOJ  WIew  od BRI, 030N
B0COORT Reeonr ERord oz 3y
1857 O @ortos 5,300 TO0FTY LW
— SuTEz wgcacpﬁabomncgpa.
@) D3 woroosr 1l

(b) TP oot

©)  Inga* oomr* vodezn

@) Deyor oon Bk

70.

71.

72,

73.

Who among the following played an
Important role in Gadhar Movement ?

(a) Shyamji Krishna Verma
(®) Lala Hardayal |
(c)
(d)

Bipin Chandra Pa}
Vishnu Ganesh Pingle

Who was the Governor General of India
during the time of the fourth Anglo-

- Mysore war ?

(a) Lord Dalhousie
(b) Lord Wellesley
(¢) Lord Benedict .
(d) Lord Mountbatten ,

The Bhoodan Movement had been
started by

(A MK. (‘}and.hi; ‘

(b) Acharya Kripalani

(¢) Jayaprakash Narayan :
@ |

Vinoba Bhave

Govind Dhondu Pant, popularly known
was Nanasaheb, and one of the principal
leaders of the Revolt of 1857, was the
adopted heir and successor of

(a) Peshwa Baji Rao II
(b) King of Jhansi

(c) Madhav Rao Sindhia
(d) Malhar Rao Holkar
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74.

75.

76.

71.

78.

Wolo  Bao¥oiom suotni3n.
(8) DRI,
(b) D0,
() DI Y,
d) ouT B,

423 FYIRY, B g0 wnd IwN

evTcdRenIVs 7.

(a) RREWT* (won3s)
(b) NS (UTe)
(c) HSBeBT (2eer)
(d neno*

31 BINSJINTY, IRJTE R0, QYonTT

o Triead, DER .00 A 303N ?
(2) O

(b) JeooctH -

(c) LoeRRPOoD

(d) Ttk

SymowR $303,0R), OERD____-
(a) OBC

b) Boded

(©) %85@563303053
d) )RR’

BIeWeRd oY)
Sezooodonsd fons PN cauafosz% 2003 ?

(a) BreoXd Do%E03

(b) ToX PR oowE03

(©) 1medd e, TorE0d
(d) soow o pY-n {012

eSO

74.

75.

76.

77.

-24 -

Beriberi 18 caused by a deficiency of

() vitamin B
(b) vitamin By
() Vitamin B,
(d) Vitamin B,

G letter in 4G spectrum is used for which
word ?

(a) Global

(b) Governance

(©) Generation

(d) Google

Which one of the following is a condition
of delayed blood clotting ?

(a) Haemorrhage
(b) Hematuria
(c) Haemophilia

(d) - Anaemia

Madalasa Charitra was written by
(a) Hari Hara

(b) Pulakesi .

(c) Kirishnadevaraya

(d) Tippu Sultan

The temples at “Halebidu and Belur “bélong
to which of the following dynasty ?

(a) Hoysala dynasty

(b) Rastrakuta dynasty

(c) Badami Chalukya dynasty
(d) Kadamba dynasty
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79.

80.

81.

82.

83.

(a)

BINIINVY, OXRF>
POROSTY, (AR
SRISIQID SN 2

(a) OCows

(b) e

(c) BReox’

(d) &edodo

00¢ Qe (VD To3TF) Qa.
(@) @ ooy o8 =

(b) &7 (pH7)

() =¥ Jed

(d) oo wd o

dadet oPusoonsd.
(a) U3 Ben

(b) Ceacdn 30oR URIFS
(¢) TR 33

d) 0T &ex,3

RPogne3nsb
TOOF AR F&IIT.
AV amduuass TOmOR
7,8 B0, Worsawd
00,8 [T TOrFOD
00,8 oo

33T
[

(b)
(©)
(d)

D330, dorwos ¢ud g ZEmen

TR S0BHorS____.
(a) Gredodo

(b) Jeaco

(c) Qgﬁméo&:e

(d) oderodo

gresod
VLOIVT

eed

oo
=

. i — —— < —
e e om—
— e —a——

o0 .
N

|
|
|
|
|
| 8.
l
|
|
|
|

l
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Which of the following is a non-metal
that remains liquid at room temperature 2

()
(b)
(c)
(d)

Phosphorous
Bromine

Chlorine

Helium

Heavy water is :

(a)
(b)
()
(d)

Deuterium oxide
pH7
Rain water

Tritium oxide

Decibel is the unit for

(a)
(b)
(©)
(d)

Speed of light
Radio wave frequency
Intensity of sound

Intensity of heat

Solar cells work on the principle of

(a)
(b)
(©)
(d)

Photovoltaic effect
Photoelectric effect
Photoconductive effect

Photosynthesis

An element that does not occur in nature
but can be produced artificially is

(a)
(b)
(c)
(d)

Thorium
Radium
Plutonium

Uranium
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86.

87'

SR ROTHEY, IFpery, o, ctnocdh

e
(2) Q000> IV Mo T 8ok
(b)  IIF Nors 8o

(c) deor, dQgen e nish Odoudz*

&,3060

(d) Be30=03 203 8ok

B3 BYNS 003 SeadsY) O[3 (05,30)

TSR Q0 ik 3 Sm0ogs 7
(@) SeD371

(b) SedI74

(9 SeDIT72

(d) ed375

2,080 éd.racaoeésc' .m.% ai%mﬁwi 86.

RSRSTONTOITI 2
(a) " 0.84
(b) 0.5
(c) 1.6
d - 0.62

AW, THESY QT

—_—

EL-eveloprabriag

(a) dadoerict (JO[FFY)

(b) NFWweoeE3* (oo0Hen SnTF)
(f) LT (DT, 0% eTT)

84.

85.

|
|
|
|
I
|
!
|
|
!
!
|
|
|
|
i
l
I
l

87.

(d) mqmcud(amdv Y FTY) |

-26-

In which ¢

down't

(a)
(b)
(c)
(d)

ase the Supreme Court laiq

he doctrine of ‘Basic Structure’ ?
Indira Nehru Gandhi case

Minerva Mills case

Central Coal Fields Ltd. case

Keshavananda Bharati case

Which one of the following article deals

with the pardoning power of the President ?

(a)
(b)
(c)
(d)

Article 71
Article 74

Article 72

~ Article 75

One kilometer is equal to how many miles ?

(a)
(b)
(©)
(d)

0.84

- 0.5

1.6

0.62

Electric current is measured by :

(a)
(b)
(c)
(d)

Commutator
Anemometer
Ammeter

Voltmeter
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8. SUNS CIRS SeDINY LACDY, oy rod

90.

F wbx&amag‘ PreARTNG 9

(a)
(b)
(©
(d)

JesdI 358

J3edI3 352

eI 359

SesdS 360

\

panied Neve i dstalantsiafillev e rin; uabzied@
3 m)zdl‘:5"0:5‘3&’»;t ARRFOT INRIT 2

(a)
(d)
(c)
(d)

SeDI 18

JedI 15

JeDS 14

SeDI 17

Znexrd .'.)daz:(ip T8, awd, FowoPrmod 81

BYNIINYY, 0RO KO 9

(a) [NISCxones ) WOTIT FUIT
Hegs

(b) oPde QOFR, FROFT T, 20mN

(c)

(d)

307t ToR3e FWF0Z,
©OT025,30 LIoXE OYrd

TREAT Bootd ARRIS

(-t d -
19~

-\.5‘5’1'“

89.

90.

88. National emergency is declared under

which of the following articles ?

(a)
(b)
(c)
(d)

Article 358
Article 352
Article 359

Article 360

Which Article of the Indian Constitution

abolishes untouchability ?

(2)
(b)
(©)
(d)

Article 18

Article 15

Article 14

Article 17

Which of the following is correct with

respect to “Right Against Exploitation™ ?

(a)

(b)

©
(d)

7 -
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Prohibition of traffic in human

(
beings and forced labour

Freedom as to payment of taxes for
the promotion of any particular

religion
Protection of interests of minorities

Equality before the law



91.

NSV, O3RFTI), oamsaesw; .
AR %ﬂwh aiwumduand 9

(i ™8 HY) HVIVTTT &Zox3MON
upF3 3302, 303y

3

(i) =omR =R QTVTT TGSV |
600, 303 3doden BT
8pF3 3,ZZ0%0 DOD0Z,

(iil) @O, HaFFon odner, BRI,
P Q0T Py ne) i
DUITRRERWDTO ’

(iv) ORTSI), gERe0 B ROoORLD, '
T3 80,Rd =R R, BeINISY
SRR

@) (i) =03 (iii)

(© Gi) 3 Gv)

(@) (i) 3 (V)

Bop, DUBY TR sodneng, B,
BWooSmdmoodnA 03RD Lplevely

I

|

|

i

!

!

i

|

i

i

|

|

|

l

i

|

I

|

{

%

i

|

i

|

|

() (i), (iii) &R (iv) !
|

|

|

|

|

I

|

I

|

adraoma_a,d? {
(a) zﬂva,aaﬁomoezsda l
(b) TpOext BRI’ I
(c) ITneeRTD |
|

|

() DRV, CARFTR BY,

Which of the following are listed as a

Directive Principle of State Policy ?

(i)  Freedom in the economic field for
the interest of the consumer and

producer

(ii) Regulation of economic system of
the country to prevent

concentration of wealth and means

of production

(iii) To ensure decent standard of living

and facilities of leisure for all

workers

(iv) To protect and improve the

environment and to safeguard

forests and wildlife
(a) (i) and (iii)
(b) (i), (iii) and (iv)
(c) (ii)and (iv)
(d) (i) and (iv)

For the Election Commission, at the

district level, who acts as the district
returning officer ?

(a) District Magistrate

(b) Police Commissioner

(¢) Tehsildars

(d) None of these
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(a) Chief Minister of the state

(b) Elected members of the state
legislative assembly

() oo, W0,&08,
(b)  oom, HEPRRLIOR TN IEF, T

(c) caudmocb (¢) Governor

4 03 o 000 T3 B ? 93, Which among the following is not
93, W ﬂ*ﬂa@”‘qmw @ standing committee ? e
() erEsRd v 003 (a) Public Accounts Committee
) a},&d 1008 (b) Ethics Committee
Railway Convention Committee
© g RandsRao () Refway=" .
“ (d) Business Advisory Committee
(d) mdmd Jomo Fe03 :
' . + i< the venue of the ‘Semicon India
't gx¢ | 94 Which is t
o1, Acomat @oRon WRO, - 2022 % Conference-2022" ?
0 7 :
otRy (a) Mumbai
(a) oLo )
(b) New Delhi
(b) sIBWO l
¢) Bengaluru
((.:) orieetd ©
(d) Chennai
@ g, l
95. Right to property according to the
95. gut W T S ED Constitution is
RoQERRT T80 1.0 ' (a) Fundamental right
(a) RPOLRS T, | (b) - Legal right
(b) TRED TN, | (©) Social right
(c) mosRed TK, | (d) Directive principles
(d) Der3s SIisd I!
I 96. The representatives of the state in the
96. DoR RGN, Tor, T3 TP, 81 89n3 | Rajya Sabha are elected by which one of
ovipn)afelelal uoi%o:inﬁm__d ? l the following ?

(d) oo " (d) President
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97.

98.

99.

100.

RT3eod LT, 108 JoBnemm xiozéom '
(ISRO) 3 Togey WARD' Quraxt-200

(HS-200) O BN TOIAT. B

OIS TocdRF oo PONTONG 9
(a) nRIJoIng

(b) ©0% - g

(c)  wWog,c3nz-3

d) ©03-aon

Bexdn RBOEDAT I T,8es, cdng

Be3TY 2/ 2
(a) om,
(b) o8,
(c) wdr

) B

[¥edt 03 oD DB oo
ST BRED T ROQFTOT 00 3, o

SrOZT 7
(a) &3d=x*
(b) Rpvo*
(©) A

@ md,

dJ
|

03T ©330E, OPAX0 — DOXR* 13,430

AR w8 ?
(a) OB,
®) nowoos
(c) IROWTB
(d) oogTT3

S
—— ———— ———
— —
—— ———
——

97.

98.

99.

vanisation
. Research Organis
Indian Space d solid rocket

lly teste
ISRO) successfu '
:)ooster HS-200, component of which

mission ?

(a). Gaganyaan
(b) Aditya-Ll

(c) Chandrayaan-3
(d) Aditya-L2

Lyman region, that was recently making
news, is located in which country ?

(a) Russia
(b) Ukraine
(¢) Turkey
(d) Egypt

Ronnie O’Sullivan, who recently became

the oldest World Champion, plays which
sport ?

(@) Tennis

(b) Snooker

. (¢) Squash

100.

-30-

(d) Golf

India’s largest lithium-ion battery plant is
located in which state ?

(@) Maharashtra

(b)  Gujarat

(¢) Tamil Nadu

(d)  Andhra Pradesh,

e —— R ——
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